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Note : This paper contains seventy five (75) objective type questions of two {2) marks each. All
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questions are compulsory.

Who has advocated “Arya Ashtangika Marga”™ ?

(1)
(3)

Which of the following is not included under ten principal Upanishads ?

(1)
(3)

Which of the following denotes the "Kshetra®™ and *Kshetrajna™ ?
Soul & God

Jagat & Jeeva

(1)
(3)

Who i1s “Yaksha™ according to Kenopanishad ?

(1)
(3)

Kapil
Patanjali

Kenopanishad

Svetashvataropanishad

Prakrin & Purusha
Maya & Brahman

Indra

Agni

What 1s *Udgeetha’” ?

(1)
(3)

Who does not attain the state of serenity (Shanti) according to Bhagawadgeeta 7

(1)
(3)

Prana

Sun

Desireless person

Karmayogi

Adhyatma Prasada is the result of

(1)
(3)

The components of Prakritt Tattva according to Samkhva Shashtra arc

(1)
(3)

How many limbs of Yoga are mentioned in Siddhasiddhant Paddhati™ ?
08

(1)
(3)

Vivekakhyati
Asamprajnata Samadhi

Vata, Kapha and Pitta

Manas, Buddhi and Ahankara

07
04

2)
(4)

(2)
(4)

(2)
(4)

(2)
(4)

2)
(4)

(2)
(4)

(2)
(4)

2)
(4)

Buddha
Vashishtha

Mundakopanishad

Brihadaranyakopanishad

Brahman

Vayu

Moon
Pranava

Fgoless person
Scholar

Nirvichara Samapatti
Dharmamecgha Samadhi

sattva, Rajas and Tamas

Vak, Pani and Payu
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10. Tlow many types of Kundalini by nature arc described in Siddha Siddhant Paddhatt ?
(1y 04 (2) 03
(3) 02 (4) 06

11. Which onc of the following 1s not included in clements of success according to Shiva
Samhita 7
(1}  Firm belief (2) Restraint of scnse organs
(3}  Sacnifice (4)  Mitiahara

12,  How many *Adharas’ are described in *Siddha Siddhant Paddbati” under *Pinda-Vichar™ ?
(1) 03 (2) 09
(3) 16 (4) 07

13. ITlow many Shodhan Kriyas arc described in [1atha, Ratnawvali ?
(1 07 (2) 08
(3) 06 (4y 04
14. Which hormonc plays an important rolc in *fight-or-flight” response in the body 7
(1Y Adrenahne (2) Noradrenaline
(3) Growth hormonc (4)  Glucagon

15,  The study of *Circadian Rhythms™ 1s called
(1} Endocrinology (2)  Chronobiology
(3) Microbiology (4y Cell Biology

16, The richest food source of calcium 1s
(1y  Milk (2)  Spinach
(3) Banana (4) Ragl

17. The positive attitude, happiness, lightedness, spiritual awakening and consciousness are the
characteristics of
(1}  Rajo Guna (2) Ssatva Guna
(3}  Rajo and Tamo Guna (4)  Tamo Guna

18, What do you understand by the term *Adh1” ?
(1) Physical disorders ongimated in Annamaya Kosha,
(2} Mental/Emotional disorders originated in Manomaya Kosha.
(3} Mental/Emotional disorders originated in Annamaya Kosha.
(4)  Physical disorders originated in Manomaya Kosha,

19.  The part of Nervous system responsible for “Rest and Digest™ response in body is
(1} Parasympathctic Nervous System (2)  Sympathetic Nervous System
(3)  Central Nervous System (4)  Autonomic Nervous System
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Combinations of which of the following medical conditions found in Mectabolic
syndrome 7

(1}  Abdominal obesity, Elevated Blood Pressure, Low 1IDL

(2)  Elevated Blood Pressure, High TIDL

(3} Abdominal Obesity, High HDL. (High-Density Lipoprotein)

(4)  Elevated Fasting Plasma Glucosce, [igh 11DL

Which one of the following is not the proved effect of Meditation ?
(1Y Decreases Stress (2) Normalies Blood Pressure
(3)  Normalises Blood Sugar (4) Increases Cortisol

The length of Sutra Neti according to Hatha Pradeepika and Gherand Sambhita is
(1) Two Bahshta (Approximate 1 1 feet)

(2)  One Balishta (Approximate 9 inches)

(3)  Half Balishta (Approximate 4 2 inches)

(4)  One and Hallf Bahishta (Approximate 13 15 inches)

In which disease condition sutraneti 1s not beneficial according to Hatha Pradeepika 7

(1Y Eye related disorder (2) Kapal Shuddhi
(3}  Diseases above the clavicle (4)  Hyper Acidity

The length of Vastra Dhauti according to Hatha Pradeepika 1s
(1) 7t (Approximate) (2) 13 1t (Approximatce)
(3) 224 fi. (Approximate) (4) 26 1t. (Approximate)

Which of the following 1s not mentioned as benefit of Pashchimottan-asana according to
Hatha  Pradeepika ?

(1}  Reduces [yper Acidity (2) Reduces fat on belly
(3) Prana cnters in sushumna (4) Incrcascs gastric fire

Which of the following is not a factor influencing tcaching ?
(1) Teacher (2)  Student
(3)  Environment (4)  Social status of a teacher

When shall be a Yoga lesson plan be prepared for an effective teaching ?
(1) One week belore the class (2)  Just before the class

(3)  One or two days before the class  (4)  After completion of the class

When the question and answer session shall be held during a Yoga practical teaching 7

(1) Beginning of the class (2)  After mtroducing the practice
(3)  After Group practice (4)  End of the lesson

For small groups, the effective seating arrangement in teaching yoga is —
(13 Semi circular (2) Circular
(3}  Row (4) Column
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The pramanas according to Patanjal are

(a)  Anumana

(b) Pratyvaksha

(¢)  Vikalpa

(d)  Agama

Use the code given below for correct answer.
Codes :

(1) (a), (b), (c) arc correct, (d) 1s not correct,
(2) (b).(a), (d) arc correct, (¢) 15 not correct.
(3) (), (¢), (b) are correct, (a) i1s not correct,
(4y (), (d), (a) are correct, (b) 18 not correct.

According to Patanjala Yoga Sutra, the accomplishments may be attained through
L. Aushadhi

1. Shaktipata

1. Tapa

1V, Samadh

Usc the codes given below for correct answer |

Codes :
1y 111D & P are correet (2y I I & IV arc correct.
(3) 1,11 & Il are correct, (4)y 1, I & IV are correct.

The following are Upa Prana Vayus |

I Krikar

[1.  Makar

[1I. Kiurma

IV, Bhujangini

Find the correct combination according to the codes :

(1Y 1 and Il are correct. (2) I, 1V and | are correct.
(3) I and III arc correct. (43 LIL.IN and Late cortect

The major sources of frustration are

| Environmental factors

1. Personal factors

[II.  Conflict

IV. Positive goals

Find the correct combination according to the codes.

Codes :

(1Y IV, Il and | are correct. (2) I, 1 and | are correct.
(3) 1L, 11T and IV are correct, (4) I, II1 and I'V are correct,
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The hormones secreted by Pancreasc arc

l. Somatostatin
1. Glucagon

[II. Cortisol
V. Epinephrine

Usc the codes given below for correct answer |

Codes :
(1) IandIIl arc correct. (2) Tand Il arc correct.
(3) Il and IV arc correct. (4) Il and I1I arc correct.

The proximate principles of our food arc
| Proteins

II.  Mincrals

1. Fats

1V, Vitamins

Usc the codes given below for correct answer |

Codes :
(1) Tand]Il arc correct. (2) TandIIl arc correct.
(3) Il and IV are correct. (4) Il and III are correct.

According to Avurveda, the main factors for causation of any discasc arc :

I satmyendrivartha samyoga
[I.  Pragvaparadha

I, Parinama

IV. Dosha Samyvata

Use the codes given below for correct answer ;

Codes :
(13 1l and I are correct. (2) land II are correct,
(3) 1 and I are correct, (4) 1l and I'V are correct,

Which qualities of food are useful for the persons of vata predominant prakriti ?

L. shecta

. Madhura

[II.  Ushna

IV, Laghu

Use the codes given below for correct answer ;

Codes :

(13 Tand Il are correct. (2) Il and IV are correct.
(3) [ and IV arc correct. (4) Il and I1I arc correct.
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38. Which vogic practices arc beneficial for patients of Hyperacidity,
L. Dhauti
1. Kapalabhat
[TI.  Pashchimottanasana
1V, Nadi Shodhana

Usc the codes grven below for correct answer.,

Codes :
(13 Tand Il are correct. (2) land IV are correct,
(3) Il and IV arc correct. (4) III and IV arc correct.

39, Main Musculo Skeletal disorders arc
I Spondylosis
[I.  Arthritis
1. Epilepsy
[V, Parkinson’s discasc

Find the correct combination according to the code :

Codes :
(1) IandIIl arc correct. (2) Tand IV arc correct,
(3) [ and Il are correct, (4) 1, I and HI are correct.

4,  The stimulation of parasympathic nervous system causes ;
L. Increase in Ieart rate
1. Increase in Anxiety level
[II. Decreasc in Ieart rate

[V,  Muscles relaxation

Codes :
(1) Tand]Il arc correct. (2) Il and IV arc correct.
(3) I and I are correct, (4) Tand Il are correct.

41,  Yogic practices recommended for anxiety management as per research evidences are |
I Bhramari pranavama
[I. Bhujangasana
[II.  Shavasana

IV,  Paschimottanasana

The correct combination according to the codes :

Codes :

(1Y 1l and IV are correct. (2) IV and I are correct.

(3) I, Il and IIl arc correct. (4) 1. 11 and I'V arec correct.
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The characteristics of Tamasika personality of an individual arc :
. Detached

. Active

1. Greedy

IV. Lack of Enlightenment

Usc the codes given below for correct answer |

Codes :
(1Y Tand Il are correct. (2) Il and HI are correct.
(3) Il and IV are correct. (4) Nl and IV are correct.

Which of the following arc types of developmental theorices of personality 7
L. Tvpe theory

1. Learming theory

11, Psychoanalytic theory

1V, Factor analysis theory

Use codes given below for correct answer

Codes :
(1) Tand]Il arc correct. (2) Il and I1I arc correct.
(3) I and IV are correct. (4) IV and I are correct.

Which of the techniques arce applicable in Moolabandha according to I1atha Pradeepika ?
I Contraction of abdomen

I[I.  Pressing anus by heel

I[II. Contraction of Perincum

V. Contraction of Chest

Codes :
(1Y Tand Il are correct. (2) Il and III are correct.
(3) Il and IV arc correct. (4) IV and I arc correct.

Vastra Dhauti 1s beneficiary in the following diseases according to Hatha Pradeepika ?
. Vataja disorders

[I. Kaphaja disorders

I[TI.  Skin disorder

[V. Evc discascs

Codes :
(1Y Tand Il are correct. (2) Il and III are correct.
(3) Il and IV are correct. (4) |and IV are correct.

The means of Jnana-yoga are ;
l. Keertana

[I. Shravana

[II. Mlanana

1V,  Nidhidhyasana

Find the correct combination according to the code :

Codes :

(1} I, II and III arc correct. (2) II IIT and IV arec correct.
(3) III.IV and I arc correct. (4) IV.Iand Il are correct
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Griven below are two statements, an Asscrtion (A), and a Reason (R). Indicate your answer

[rom the alternatives below :

Assertion (A) : The wvery purposc of practice of asana is to overcome conflicts
(Dvandvas).

Reason (R) : Asanas are practices only for the prevention of disease and to keep fit,

In the context of above two statements, which one of the following 1s correct 7

(1Y Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) 18 not the correct explanation of (A).

(3)  (A)is true, but (R) 1s false.

(4y (A s lalse, but (R)1s true,

Crven below are two statements, an Asscrtion (A), and a Reason (R). Indicate your answer

[rom the alternatives below :
Assertion (A) : Vitamins are required in small amount in body and they are important
constitucnts of Balanced diet.

Reason (R) : Vitamins do not supply cnergy but play an important role in regulation of

metabolic activities and help in utilization of protems, fats and carbohydrates.
In the context of above two statements, which onc of the following 1s correct ?
(1} Both (A) and (R) arc truc and (R) 15 the correct explanation of (A).
(2} Both (A) and (R) are true, but (R} 1s not the correct explanation of (A).
(3)  (A)is true, but (R) 1s false.
(4y (A s lalse, but (R) s true,

Given below are two statements, an Assertion (A), and a Reason (R). Indicate your answer

from the alternatives below
Assertion (A) : The basic aim of Yoga 1s sclf-rcalization and ultimate liberation.

Reason (R) : The constant practice of cight steps of Yoga does not helps & control our

body and mind, so as to reach the final goal of liberation.
In the context of above two statements, which one of the following 1s correct ?
(1} Both (A) and (R) are true and (R) 1s the correct explanation of (A).
(2} Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).
(3)  (A)1s true, but (R) 1s false.
(4)  (A)s lalse, but (R)1s true,

Given below are two statements, an Assertion (A), and a Reason (R). Indicate yvour answer

from the alternatives below :

Assertion (A) : Mandukasana should be a contraindicated for the patient ot osteoarthritis
of knee joint.

Reason (R) : Asanas involving excessive bending of knees can be difficult and painful on
the joints and aggravate the knee problems,

In the context of above two statements, which one of the following 1s correct 7

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc truc, but (R) 1s not the correct explanation of (A).

(3)  (A)istrue, but (R) 1s falsc.

(4y  (A)i1s false, but (R) 1s truc.
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T RT T S A § G U AT (A) 3T T8 9% (R) 1 9SS T | e Tu
IR (A) : T o 2T Bl A 3299 F51 T H T E |

% (R) : 3T 3 302 helel SART S UHAH AR @ () T4 & folr fru s & |

I & FA o GET T AeAfeiEd O W FE 9 W8 o

(1) (A) 3T (R) AT TET & T4 (R), (A) Tl T2l =0T 7 |

(2)  (A) 31T (R) SHT T&T &, o1fh (R), (A) & Tl =40 781 & |

(3) (A)TEE, A (R) TT & |

(4)  (A) TR F, AT (R) TRTE |

FHHFFWFTWHHU?HVWW(\} 31T W 1 @6 (R) F TN Al T ¢ | A 50 70

fershed] T 9 Tl I T}lIdL_{ :

ATUHAT (A) ; YR T T 9T T (G20 1 Aaeeha] 8l ¢ &% 3 Wl IR & Weeaqol
T2 B 7 |

% (R) ; T2 ol #f 39id 76T 63d, iieh == Fared % FaaT 0 v Tgwago] qiae]
T:I“LTT_T%r ::TFTWET:\TT T amwmwmmﬂmwﬁ [

IR =T FUAT & o H FAremgd J 3 & W T8 8 9

(1) (A) 3 (R) T W& € a7 (R), (A) & Tel 20 2 |

(2)  (A) 3 (R) T TET 2, AT (R), (A) =1 T2 S0 T2 € |

(3) (A) W&l &, oifeh (R) oI & |

(4)  (A) T &, AR (R) T&1 € |

=TT faT T & WHHWEVWW(\) 31T 58X 1 @ (R) &l G &1 T & | 9= f50 M

fershed] | | -H‘E:I 3Tl TIHU :

IR ERE| (A): T T A IZ9T SEAFHIT 3T T Hie] & |

?‘lﬁ)‘{R} e4|4| $ Al v44ll hl H{"H STETH FJ-IH %HH leT He 97 Iflﬁlﬁiul If delddl f"IF:I =2 EsIN ITIH-H
e T e =7 3T e U R ST Wk |

ST S FYAT o HeY T EiatEe O 9 e 9 w8l 70

(1) (A) 3R (R) ST Ter § a4 (R), (A) = Tl AT € |

(2)  (A) 3 (R) T W& 2, AT (R), (A) &1 T2 S0 T2l € |

(3) (A) TR T, AT (R) Tord & |

(4) (A) T §, T (R) TR § |

e 157 70 57 YAl § W U JWW{\} 3T wawmh (R)WE‘WF’TTE? | 7= 5T T

fershedl O Tl I T}lIdL_{ ]

AT (A) ; ST AT SR ARl o difgd I00T % foll Argawme Fiog & |

T (R) @ =20 1 Sifees A Al e S Al o fo sHic aur SeeeTas & wehd & S S
T THET &1 9 Thd § |

SULSA = AT & OE T e O W e o Ta8l

(1) (A) 3 (R) ST W& & 397 (R), (A) o1 Tel 230 7 |

(2} (A) 3T (R) M1 TET &, &6 (R), (A) ol T =S T80 & |

(3) (A)TRE, AT (R) TAT & |

(4)  (A) e &, AR (R) TR E |
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Griven below are two statements, an Asscrtion (A), and a Reason (R). Indicate your answer
from the alternatives below

Assertion (A) : Matsyendrasana 1s the best Yoga Practice for control of Diabetes.
b 2

Reason (R) : Matsyendrasana compresses the abdomen and twist the spine to stimulate

the functioning of pancreas and thereby helps to control diabetes.
In the context of above two statements, which one of the following 1s correct 7
(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) arc truc, but (R) 1s not the correct explanation of (A).
(3)  (A)is true, but (R) 1s falsc.
(4y  (A)i1s false, but (R) 1s truc.

Given below are two statements, an Assertion (A), and a Reason (R). Indicate vour answer

rom the alternatives below -

Assertion (A) : Human value 1s like an axle of a wheel and other types of value are

around 1L

Reason (R) : The Human values are truthfulness, constructivity, sacrifice, sincerity, self
control, anthusim and scientific vision.

In the context of above two statements, which onc of the following 1s correct ?

(1} Both (A) and (R) arc truc and (R) 1s the correct explanation ot (A).

(2)  Both (A) and (R) arc true, but (R) 1s not the correct explanation of (A).

(3)  (A)is true, but (R) is falsc.

(4)y  (A)i1s falsc, but (R) 1s truc.

Given below are two statements, an Assertion (A), and a Reason (R). Indicate your answer

rom the alternatives below

Assertion (A) : By the practice of pranayama, the mind can attain the capability for

[DXharana.

Reason (R) : Pranayam 1s a technique of voluntary regulation and control of breathing

which enables the mind for practicing Dharana.
In the context of above two statements, which onc of the following 1s correct ?
(1} Both (A) and (R) arc truc and (R) 1s the correct explanation of (A).
(2)  Both (A) and (R) arc truc, but (R) 1s not the correct explanation of (A).
(3)  (A)istrue, but (R) 1s falsc.
(4y (A s lalse, but (R)1s true.
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A R T S R W U S AT (A) T T8Y i A (R) U S T2 E | A few g
FereRel 7 ¥ Wel 3o FAT

ATHTT (A) : ARSI SRR o I0T 3 [0 e ATy & |

a% (R) : TERRETET & 3TN ¥ 352 OHiied gl § o7 TEave feere” g1a1 & 5 3= &1

opeITeToReT SEA ¥ S W o PO SR e AR

ST =1 AT o 92 U eleniEgd O W s o1 EEl 8 0

(A) 3T (R) =TT TRT € @40 (R), (A) T T =0 2 |

(A) 3T (R) H1 98T 8. & (R), (A) & H8T & 781 |

(A) TET &, o1fT (R) ToId & |

(A) A B, AT (R) TET € |

AT fo T ST Fel G A (A) 3T GE T TH (R) B H AT TE ) A
fershedl O ¥ Wl 3 90

fweT (A) : TFEE Tod Uss UlaU i 437 o TeIT & 31T 588 WhRT o Tod eeh a1 AL BT & |

T (R) : T 00T TP, T, T, FYSedl, SeH-FageT, TR AT SR

-‘_F. h %’_ [

SIS B T o Hed H AEogd 5 H i W OHEl g 2

(1)
(2)
(3)
(4)

(A) 3T (R) =TT TR € a4 (R), (A) 1 T =081 2 |

(A) 3T (R) ST TET & 4T (R), (A) T W&l A 61 € |

(A) T &, wife (R) Teid & |

(A) T 8, T (R) TET € |

A few T &7 el U U S AT (A) 3T g8 % a6 (R) G0 A € ¢ | A fEu g
ferepell T ¥ TRl 3TN EJ_F:I' T

AT (A) : TIOR3 3T o 5T B9 S0 3h &T9a] U &L Thdl & |

TF (R) : WO YOE o Wi HEwT ST FEE 3 U 991 8, I G0 o ST % AT

O &R T9Y &-Ta] & |

ST =1 AT o 92 U eleriEgd O W s W1 a8 2

(1)
(2)
(3)
(4)

(A) 3T (R) =TT TRT € @40 (R), (A) T T =0 2 |

(A) 3T (R) T T . AT (R), (A) 1 T =amen T ¢ |

(A) TET &, o1fT (R) ToId & |

(A) T 8, T (R) TET € |



www.prepp.in

th
-

tin
tin

tn
o

Griven below are two statements, an Asscrtion (A), and a Reason (R). Indicate your answer

[rom the alternatives below :

Assertion (A) @ Practice of meditation relieves stress.

Reason (R) : Various rescarches proved that practice of meditation increascs the sccretion
of stress hormone (cortisol), relaxes the mind and thereby relieves the stress.

In the context of above two statements, which onc of the following 1s correct ?

(1} Both (A) and (R) are true and (R) 1s the correct explanation of (A).

(2)  Both (A) and (R) arc true, but (R) 15 not the correct explanation of (A).

(3)  (A)istrue, but (R) 1s falsc.

(4) (A s lalse, but (R) 15 true,

Four foundations of mindfulness, according to Buddhist meditation technique are ;
(a)  Dhammanupassana

(b)  Vedananupassana

(¢) Cittanupassana

(d) Kavanupassana

Arrange them in descending order

(1) (a), (b), (c)and (d) (2) (b).(c), (d)and (a)

(3)  (¢), (d), (&) and (b) (4) (d), (b), (¢) and (a)

Arrange the following llatha Yoga practices advocated by Swatmarama surt i order in
which they appeared.

I Kumbhaka

[I.  Mudra

[1l.  Asana

[V, Nadanusandhana

Usc the code given below for correct answer :

Codes :
(3)y I IV, L1 (4) M0 I TV

Arrange the following stages of Vairagya in sequential order,
L. Vyatircka

II.  Yatamana

1. Vashikéra

IV, Ekendriva

Use the code given below for correct answer :

Codes :

by LLll MW (2) I I0 1L TV
(3 Lk 1N (4y I IV,
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SR (A) : M BT ST T (38) T 6T T L5 |

T (R) : a1 wnashdret o miad a7 & 7 & %1 2R W 8T (FICaeT) & He &
AR &, B B[ AR TgaTal ¢ 3R 38 WhR a41d ¥ 6 UEH a1 § |

SR & FAT & G5 | AfeiEd 7T i 9 T8 § 0

(1) [f’\}Em{]{}aﬁﬁﬁﬁm[}{}*[ﬂ}aﬁaﬁmﬁl

(2)  (A) 31T (R) 91 T&T . o1 (R), (A) I TeT =30 787 & |

(3) (A)TETE, T (R) T £ |

(4)  (A) T 2, AR (R) BRI E |

1 T TR & SR TEHH] &l 9 STERISE §

(a)  EHHTTUTETA]
(b) SRR
(¢) ToIR

(d}  SHIETTUREAT

SR %] 3TENR] Y T sHaedq &
(1) (a), (b), (¢) ¥ (d) (2)  (b), (¢), (d) T (a)
(3) (), (d), (a) 3T (b) (4)  (d), (b), (c) 3R (a)

. TR
1. T

(3) HLIV, LTI CO I A

-t

SR o AfcTiEgd =R 1 3T 0 U T #1354 % o 71 [ 0 i gEn

(ly LIHILILIV ) L IL 1L 1V
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Arrange the following endocrine glands in sequential order according to their position n
human body from top to bottom.

I Thyroid Gland

1. Gonads

1. Adrenal Gland

IV, Pituttary Gland

Usc the codes grven below for correct answer :

Codes :
clY Ll IIL.DN (2) IV, T
(3y ILIIL LIV (4y IV I 11, 11

According to the percentage of Vitamin C present in following food items, arrange them
in deercasing order.

| Guava

1. Orange

[II.  Tomato

[V. Amla

Use the codes given below for correct answer ;

Codes :
(A 1%y BTy L 4) LIV, I

Arrange the following Krivas in scquential order according to Ilatha Pradcepika :
L. Dhauti

I[1.  Basti

11, Neti

IV, Nauli

V.  Trataka

VI, Kapalbhat

Codes :

(ly LIL IV, IL VLY (2y LIV, IL LV, VI
(3) AL, TV, TN, W (4)y LI I IV, W, VI

Which of the following answer 1s correct ? Use the codes given below for correct answer

List-I List-TI
(Darshan) (Propounder)
(I Vaisheshika (A)  Gautam
() Nyaya (B)  Kanada

() Mimamsa (C)  Kapila
(IV)  Samkhya (D) Jaimini
Codes :
(ny (1) (I (IV)
(Iy (&) (B) () (D)
(2) (B) (A) (D) (C)
(3} () (D) (A) (B)
4y (D) Ay (B) (C)
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[ TEtEs Ui
Il TEd (S99 A
1. OTger U (eTaaes i)
V. Toeged i
ohd
(1y LI, 100, IV (2)y IV, I IIL I
(3y 1L IIL I, IV (4 IV,I I II

i

59, [TEET RN 587 H SURRId [EeTo=-91 1 Uia9d 961 & 3aR 3% ¥9ed 0 1 Held F{ |
&I 3T & o ToTu =l [30 T 3 31 YN e

. s
1. Hed

1. zHRX
IV, 2ATeer
e

60. FTRITTH & STTER Togd Fant I 0 § SeEread %1

| e

1. @

1. =f9

V. =i

A Aldsh

VI, ST
= -

{1} [ L IV IL VLY (2y LIV, IL LV, VI
(3) LI IV 1N, M (4)y LI I IV, WV, VI

6l. F=foiEd O 9 & 91 3T T80 © 9 A B T % 1 9ANT  g0 Wal S8 I
) Lt
-1 11

@F  Eaw)

() oM (A) g

(ny == (B) 0%

(1 #HEE () FHHe

(1V) @A (D) SifEe
E A

(Iy (1) (IIT) (IV)
(A) (B) (C) (D)
(B) (A) (D) (C)
(©) (D) (A) (B)
D) (A) (B) (C)
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Which of the following pairs is not correctly matched ?

(1)
(2)
(3)
(4)

Match List-I with List-II and sclect the correct answer by choosing from codes grven

Match List-I with List-II and sclect the correct answer by choosing from codes grven

ITatha Pradcepika
Light on Yoga
Bhaja Govindom

Raja Martanda

Swatmarama Surl

B.K.S.. Iyengar
Veda Vyasa

Bhoja

below
List-I List-II

(1 Jala Mahabhoota (A)  Shabda
(1} Vayu Mahabhoota (B) Roopa
(111} Akash Mahabhoota (C) Sparsha
(IVY  Agnit Mahabhoota (D) Rasa
Codes :

() ) () (IV)
(1y (B (€©) (D) (A)
2) (A D) (©) B
3y (D) (©) Ay (B)
(4) (C) Ay (B) (D)
below :

List-I List-II

(1 Agni (A) Chakshu
(I Vayu (B) Vik
(II1y Aditya  (C) Mana
(IV) Chandra (D) Prana
Codes :

() () (1V)
(1 (A) (©) (B) (1)
(2) (B (D) Ay (C)
(3) (C) (AY (B) (ID)
4y (D) (C) (A) (B)
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(1) %2 UsITTeR

(2) TR & A

(3) W A

(4) =1 ATV

-1 =0 -1 o B Grferd ¢ A7 T 0 70 2 F TE s gu Wal e 9

(1)
(1)
(111)
(I1V)
B
(1)
(2)
(3}
(4)

)

L

(I
(1)
(1)
(IV)
*T
(1)
(2)
(3)
(4)

TR T
31T, ST

"

]

T=i-1 T=0-11
SToT FET (A) W
AT HETd (B) ¥4
SRS TR (C) T
3T TETe ()
(h (1) (1) (IV)

(B} (C) (D) (A)
(A) (D) (C) (B)
(D) (C) (A) (B)
(Cy (AY (B) (D)

-1
an

(h
(A)
(B)
(€)
(D)

(C)
(D)
(A)
(C)

(A)

(B)
(€)

(D)

-1 = -1 o B Grlerd ¢ A7 T 50 70 2 F vE wa gu Wal e 9

Gist
8]
EIER
—

arot

(I11) (IV)

(B)
(A)
(B)
(A)

(D)
(C)
(D)
(B)
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Match List-I with List-II and sclect the correct answer by choosing from codes grven
below for correct answer :
IJiSl-]-

(Chakras)

(n Swadhishthana

(IT)  Manipoor

(1) Anahat
(IV)  Sahasrar

Codes :
(I)
(1 (A)
(2} (L)
GE 1)
4y (D)

(1I)
(D)
(B)
(A)
(B)

List-IT
(Apgni)
(A)  Manojava
(B}  Vishwaruchi
(C)y Karah
(ID)  Sulohita

(I (IV)

(B)
(D)
(1)
(C)

(C)
(A)
(B)
(A)

Which of the following pairs is correctly matched ? Usce the codes given below for correct

AlTSWET S

List-1
(h Karuna
(I Mudita

(1) Maitri

(IV) " Upcksha

Codes :
()
(1) (A)
(2} (B)
(3) (D)
4y (O

(A)
(B)
(C)
(1)

List-11
Sukha
Apunya
Punva
Dukha

(I0)y (I (IV)
(B) (D) (C)
(AY (C)y (I
(L) (A) (B)
(D) (B) (A)
Match List-1 with List-II and sclect the correct option. Using the codes given below
List-I List-I1
(Karma) (Result/Phala)

(I) Shukla
(I Shukla Krishna (BY Virtue

(II1} Krishna

(A)  Virtue and Sin

(C)  Devold of Virtue and Sin

(I1V)  Ashukla Krishna (D) Sin

Codes :
(I)
(1 (A)
(2) (B)
(3 (C)
(4)y (D)

(1)
(B)
(A)
(B)
(©)

(I (IV)

(C)
(D)
(1)
(B)

(1)
(C)
(A)
(A)
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-1 TA-11
QED (3T
(1)  T@EfaeE (A) e
(I) wmR (B) fergersi=
(1) =FRd (C) A
(1V) TEaR (1)) Terfgan
E A
() (1) (1) (IV)
(1 (A) (DY (B) (©)
(2) (©) (B) (D) (A)
3) (© (A (D) (B
4) (D) (B) (© (A)
FAeEd W & W1 27 W6l & H GHied § 7 A4 /U 70 %e 31 VAN FY
-1 - 11
() EM (A) TE
(I 9= (B) 21
(I == (C) T4
(V) 39 (D) T9
E A
() () (1) (1V)
(1 (A B) D) (©
2) (B) (A)Y (C) ()
(3) (D) (C) (A) (B)
(4) (C) (D) (B) (A)
-1 -1
() ()
(I) ¥ (A) o7 AR O™
(I  FEer I (B) U
(111 o (C) 79 3R 9w 9 ea
(IV)  SRET FO1 (D) 9™
ohd
(h () (1) (1V)
() (A) (B) () (D)
(2) (B) (A) (D) (C)
(3) (C) (B) (D) (A)
(4y (D) () (B) (A)
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Which onc of the following pairs is not correctly matched ?

(1)
(2)
(3)
(4)

List-1

Asuana

Prana Ydinld

Pratyahara

Dhyana

[ist-IT

Sthirata

Laghava

Dhairva

Pratyaksha

Match List — [ with List — IT and select the correct option using the codes given below :

List-I

(I Cerchrum
(I}  Cerebellum
(IITy Medulla Oblongata
(1V)  Hypothalamus
Codes :

() () (V)
(1 (©y (A (B) (D)
2y (A) (B) (1) (O
(3} (€) (A) (D) (B)
(4) (B) (©) (D) (A)

(A)
(B)
(©)
()

List-11I
Regulates posture and postural activitics
Regulates temperature of body, hunger and thirst
Controls emotions, hearing and vision

Controls respiration and cardio vascular system

Match List — I with List — [T and sclect the correct option using the codes given below

(1)
(1)
(111}
(V)

I.ist-I

Imbalance of Vata

Imbalance of Pitta

Imbalance of Kapha

List-I1
(A) 20 Nanatmaja Vikara
(B) 80 Nanatmaja Vikara
(C) 40 Nanatmaja Vikara

Combination of any two vitiated Doshas — (I3)  Dwandaja Vikara

Codes :

(1)
(2)
(3)
(4)

(h
(A)
(A)
(B)
(B)

(1) (1) (V)

(€)
(D)
(©)
(A)

(B)
(©)
(A)
(©)

(D)
(B)
(D)
(D)
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(1)
(2)
(3)
(4)

gAT-1 1 -1 3 91 GHleTd T4 2 A &G 10 e 561 AT SHd g0 Wal faehed T :

T - 1 T - 11
27T — T
TEIET - 99

T T=H-11

()  oEm (A) Tl & Teafa deel Toraren o1 e e € |
() e (B) 9T & SO, e S e e e E o
(1) TrEgge effec =TT (C) 9T, a0 % gis & [ e € |
(1V) BRI (D) TIET AR TE UEER] & 1 A A
He

Ay (11D (1v)
(I () (A (B) (D)
(2)  (A) (B) (D) (C)
3) (©) A D) (B
4y (B) (C) (D) (A)

-1 &1 G113 F1 Goferd L AR A 1§10 F 1 WA F4 50 Tl eehod T

(I)
(11)
(1)
(IV)

(1
(2)
(3)
(4)

-1 11
T 3 AHTAT (A) 20 e farehrT
=T =67 ST (BY &0 THTeHST @R
FF T I (C) 40 AT TehTT
fer=gl =7 goa ST 1 E=A . (D) et faeRe
(I (1) (1) (1V)
(A) (C) (B) (D)
(A) (D) (C) (B)
(B) (C) (A) (D)

(B)

(A) (C) (D)

prepp

Your Personal Exams Guide



www.prepp.in

gl

72,

74.

Recad the following paragraph carcfully and answer the five questions which tollow
(). Nos, 71 to 75)

Yoga as an “ancient Indian practice” got global recognition as it has been inscribed
on UNESCO’s representative list of intangible cultural heritage of humanity during the
1™ session of the Inter-governmental committee for the safeguarding of the intangible
cultural heritage held in Addis Ababa, Ethiopia,

In 1ts citation, UN body observed —

“The philosophy bechind the ancient Indian practice of Yoga has influcnced various
aspcets of how socicty in India functions, whether 1t be in relation to arcas such as health
and medicine or education and the arts, Based on unifying the mind with the body and
soul to allow for grcater mental, spiritual and physical well-being, the valucs of Yoga
form a major part of the community’s ethos”.

“Yoga consists of a scrics of posturcs, recgulated breathing techniques, meditation,
word chanting and other techniques designed to help individuals build self-realisation,
case any suffering they may be experiencing and allow for a state of liberation. It is
practiced by the voung and old without discriminating against gender, class or religion and
has also become popular in other parts of the world.”

“Traditionally, Yoga was transmitted using the Guru-shishya parampara (master-
puptl model) with Yoga gurus as the main custodians of associated knowledge and skills.
Now—a—days, Yoga ashramas or hermitages provide cnthusiasts with additional
opportunity to lcarn about the traditional practice, as well as schools, untversitics,
community centres and social media. Ancicnt manuscripts and scripturces arc also used n
the tcachmg and practice of Yoga, and a vast range of modcern literature on the subjcct is
also available.”

Which world body inscribed “Yoga™ in the list of mtangible cultural heritage of
humanity ?

(1Y W.H.O, (2) U.N.

(3) UNESCO (4 UNICEF

; z| : E - . . - .
Where the 117 session of the inter-governmental commitiee for the saleguarding ol
intangible cultural heritage was held ?

(1) Ttaly (2)  Ethiopia

(3) India (4) Estonia

Who are the main custodians of associated knowledge and skills of Yoga ?
(1)  Common man (2)  Ayush Ministry

(3)  State governments (4)  Yoga Gurus

Which influcnced vartous aspects, such as health and medicine or education and arts in
ancient India ?

(1Y Yoga Philosophy (2)  Avyurveda
(3)  Community Centres (4)  Universitics

According to the citation of UN body, Yoga techniques are designed to help the
individuals ?

| to build self-realisation [I. forastate of hberation

I[T1I.  to enjoy the worldly pleasures [V. toovercome any kind of sutterings.
Find the correct combination according to the code ;

(1) IV.,IIl and I arc correct. (23 [l loawd L gie cortedt

(3) II, IIl and IV arc correct. (4) 1. Il and I'V arc correct.
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